
 

APPENDIX: FOOD STAMP GLOSSARY
 

~G~ 
 

 Gross Income Trigger - Job Ready 

~G~ 
 

 

Gross Income Trigger 
When the gross income of a family reaches $446 1026 monthly and the TEA payment is 
reduced by 50%. 

 
 

~H~ 
 

 

Head of Household
The caseheadcase head. 

 
Head of Household (Minor Parent) 
A minor parent who is legally married regardless of whether he/she is currently living 
with the spouse, or a minor parent who is living on his/her own without adult supervision 
and it has been determined (TEA 2122.1) that this is an appropriate living arrangement 
for the minor parent and child. 

 
Head of Household (Teen Parent) 
A head of household who is under 20 years of age. Household Composition All persons 
living in the home with family members included in the TEA Unit. 

 
 

~I~
 

 

Imposition of Sanction 
The case was closed or, if a closure exception was allowed, the payment was 
reduced due to non-compliance in certain program requirements. 

 
Income Eligibility Standard 
The dollar amount a family’s net countable income must be equal to or less than in 
order to meet the income eligibility requirement. 

 
 

~J~ 
 

 

Job Ready 
A person who has no physical, mental or job skill barriers that 0prevent employment. 
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2100 TEA Application Process 
 
 
 
 
 

2100 TEA Application Process 
 

 

07/01/9701/01/2023 
 

2101 Preliminary Income and Resource Eligibility Screening 
 

The income and resource sections of the application will be reviewed with the applicant 
to determine whether the family may be eligible for assistance. If the income or 
resources are above the maximums of $223513/month for income (TEA 2351) or $3000 
for resources (TEA 2272), it is not necessary to continue the application interview. The 
TEA application will be denied. If it appears that the family may be eligible for assistance, 
the interview process will continue. 

 
 

2101 Preliminary Income and Resource Eligibility Screening 
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2351 Income Eligibility Standard 
01/04/199901/01/2023 

The Income Eligibility Standard is 25% of the amount a full-time worker would earn at 
the September 1997 minimum wage of $5.15 per hour.  The Income Eligibility Standard 
It  is the same amount for all family sizes and is used to determine both initial and on-
going income eligibility.

Countable unearned income plus net earned income (gross minus certain deductions 
specified in TEA 2352) is compared to the Income Eligibility Standard. If the total 
countable income exceeds the Standard, the family is ineligible for TEA benefits. 

The Income Eligibility Standard is $223 513 per month. 

2350 Income Eligibility Determination 
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2360 Payment Determination

2353.1 Applicant Income Eligibility Budget
01/04/199901/01/2023 

1. Compute the family’s countable unearned income. 
2. Compute the family’s monthly countable gross earned income. 
3. From the monthly gross earnings, deduct 20% of the gross amount to arrive at 

the monthly net earnings. (May multiply the gross earnings by 80%.) 
4. Add the net earnings to the unearned income to arrive at the monthly 

countable income. Compare the total monthly countable income to the Income 
Eligibility Standard of $223513. 

5. If the income is equal to or less than $223513. 0, then the family meets the 
income requirement, and the eligibility and payment determination will 
continue (see TEA 2360).

6. If the income is over $223513. 0, then the family is ineligible, and the application 
will be denied. 

EXAMPLE #1: Ms. Jones has one child, and their only income is a $100 125 per week 
Unemployment Insurance benefit. Their monthly countable income is 
computed to be $433.33541.75. This exceeds the Income Eligibility 
Standard of 
$223 513 so the application is denied due to income. 

EXAMPLE #2: Mr. and Mrs. Miller have two children and no unearned income. Mr.
Miller is currently employed for only a few hours per week (10 hours) at 
$5.1511.00/hour. His gross monthly earnings are computed to be 
$275476.74. When the 20% work-related deduction is applied to the 
gross earnings, it results in net countable earnings of $220381.40. Since 
this is below the $223 513 standard, the family is income eligible. 

For applicant families who are income eligible, the earned income deductions available 
to recipients should be explained so that the adult is aware that assistance will not 
automatically be terminated if he or she finds a job or increases his or her earnings. 

2353.2 Recipient Income Eligibility Budget 
01/04/199901/01/2023 

1. Compute the family’s countable unearned income. 
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2360 Payment Determination

2. Compute the family’s monthly countable gross earned income. 

3. From the monthly gross earnings, deduct 20% of the gross amount (May be 
computed by multiplying the gross earnings by 80%.) 

4. From the amount arrived at in Step 3, deduct 60% to arrive at the net countable 
earnings. 

5. Add the net earnings to the unearned income to arrive at the monthly countable 
income. 

6. Compare the total monthly countable income to the Income Eligibility Standard 
of $223513. 

7. If the income is equal to or less than $223.00513, then the family continues to 
meet the income requirement and the payment will be determined (see TEA 
2360). 

8. If the income is over $223.00513, then the family is no longer eligible. 

EXAMPLE #1: Ms. Adams who is receiving benefits for herself and two children has 
started working at a local plant. She works 40 30 hours a week at 
$6.0011.00 per hour. Her gross monthly earnings are $10401430.22. Her 
income eligibility budget is computed as follows: $1040 1430.22 x 80% = 
$832 1144.17 - $499.20686.50 (60% of
$832.001144.17) = $332.80457.67. Since the net countable income of
$332.80457.67 exceeds the Income Eligibility Standard of $223513, the 
family is no longer income eligible. 

EXAMPLE #2: Mr. Turner has started working part-time and his monthly gross earnings 
are computed to be $325953.48. The Income Eligibility budget is as 
follows: 
$325 953.48 (gross earnings) x 80% = $260 762.78 - $156.00457.66 (60% of 
$260.00762.78) = $104305.00 which is less than the $223 513 standard. 
The family remains income eligible. 
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2362 Reduced Payment – Gross Income Trigger

 

 
 

2362 Reduced Payment – Gross Income Trigger 
12/06/1101/01/2023 

 
The payment amount for the family size will be reduced by 50% when the family’s 
countable monthly gross income, excluding assigned child support payments, is equal to 
or more than $4461026. If the reduction does not result in a whole dollar amount, then it 
will be rounded down if the remaining cents are $ .49 or less, and up if $ .50 or more. 

 
EXAMPLE #1: Mr. and Mrs. Smith have two children. Mr. Smith has a disability and 

receives both Social Security and SSI disability benefits. Mrs. Smith and 
the two children receive a total of $150/month SSA benefits. Since Mr. 
Smith is a SSI recipient, he is excluded from the family size for payment 
and his income is not considered. Only Mrs. Smith and the two children 
are included. They are income eligible, based on the $223 513 
standard, so their payment is determined as follows. The monthly gross 
income of 
$150 is less than $446 1026 so their payment is the maximum grant for 
a family size of three (3) or $204. 

 
EXAMPLE #2: Ms. Brown has received TEA benefits for one month for herself and one 

child. She has now found a job and is expected to earn $500 1200 gross 
per month. After allowing the recipient earned income deductions (20% 
of the gross and then 60%), she is income eligible based on the $223 513 
income standard. The payment is then determined as follows: Gross 
countable income ($5001200) exceeds $446 1026 so the Browns’ 
payment is 50% of the maximum for a two-person family, or $81.

 
The payment determination showing the number of persons included in the grant, the 
family’s gross income, and the grant amount will be documented in the case record. 

When a family’s payment amount reduces to the 50% amount, the worker should 
discuss possible alternatives to continuing to receive cash assistance with the 
caseheadcase head. It should be explained that even though the payment has been 
reduced, the time limit count is continuing. Therefore, it may benefit the family in the 
long-term to terminate cash assistance while the family’s gross income is at the $446 
1026 or above level rather than continue to receive the reduced TEA payment. It must 
be emphasized that the decision 
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2363 Drug Screenings

 

 
 

to close the cash assistance at this time is strictly the client’s and he or she should not 
be made to believe that the cash assistance case must be closed. 
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4100 Non-Work Participation Eligibility Requirements 

4130 Household Composition

4120.1 Recomputing Income
07/01/9701/01/2023 

When a family reports a significant change in income, the budget will be recomputed to 
determine the family’s continued eligibility.

1. If the net countable income exceeds $223 513 (Income Eligibility Standard),
the family is no longer eligible (See Example #1; Refer to TEA 2353.2). 

2. If the net countable income does not exceed $223 513and the gross countable 
income does not exceed $4461026, the assistance payment will remain the same 
(See Example #2; Refer to TEA 2353.2). 

3. If the net countable income does not exceed $223 513 but the gross 
countable income exceeds $446,1026 the assistance payment will be 
reduced by 50% (See Example #3; Refer to TEA 2362). 

EXAMPLE #1: Mrs. Jones receives $286/mo. assistance for herself, husband and three 
children. Mr. Jones started to work and his monthly gross earnings 
computed to be $7542000. The income eligibility budget is as follows: 
$7542000.00  (gross earnings) x 80% = $603.201600 - $361.92960 (60% 
of $603.201600) = $241.28640. 
Since the net countable income of $241.28640 exceeds the Income
Eligibility Standard of $223.00513, the family is no longer eligible. 

EXAMPLE #2: Mr. Thomas receives assistance for himself and one child ($162.00 ). He 
started to work and his monthly gross earnings computed to be 
$400.001025. The income eligibility budget is as follows: $400.001025 
(gross earnings) x 80% 
= $320.00820 - $192.00492 (60% of $320.00820) = $128.00328. Since the 
net countable income is less than the Income Eligibility Standard of 
$223.00513, the family remains eligible. The assistance payment ($162.00 
) remains the same because the gross earnings ($400.001025) are less 
than $446.001026. 

EXAMPLE #3: Mrs. Hill receives assistance for herself and two children ($204.00 ). She 
has found employment and her monthly gross earnings are computed to 
be $450.001250. The income eligibility budget is as follows: 

$450.001250 (gross earnings) x 80% = $360.001000 - $216.00600 (60% of 
$360.001000) = 
$144.00400, which is less than the $223.00513 standard. The family 
remains income eligible. Since the gross income is greater than the 
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4130 Household Composition
$446.001026 (refer to TEA 2360), the assistance payment is reduced by 
50%. The new assistance payment will be $102.00.

Even if the family remains eligible, the participant may choose at any time to have his or 
her case closed. The worker should discuss this option with a participant who becomes 
employed, since each month of receipt reduces the number of months he or she may 
receive benefits in the future. 

4120.2 Child Support Income Exceeds Assistance Payment 
01/04/9901/01/2023 

The Office of Child Support Enforcement sends the TEA family any current monthly child 
support collected which is in excess of the TEA payment. A printout is sent to the County 
Office stating that the child support exceeds the TEA payment. If the total child support 
collected, alone or with other countable income, exceeds the Income Eligibility Standard 
of $223513, action to close the case will be taken. If the family remains eligible, however, 
then contact will be made with the participant to discuss options, or alternatives to cash 
assistance which could benefit the family. The contact can be by phone, in writing, or 
during in person contacts with the participant. 

When the child support income exceeds the assistance payment but the family remains 
income eligible, the participant will be given the following options: 

 Close the TEA case and receive the full child support. Explain to the participant 
that the child support payment is more than the TEA payment and even though a 
partial child support payment is being received, the limited months of TEA are 
continuing to count. Also, explain that Medicaid may continue and if the absent 
parent stops paying, reapplication for TEA can be made. 

 Continue to receive TEA and the partial child support payments. Explain to the 
participant that if this option is chosen, the payments will continue to count 
toward the time limitation. 

It will be the participant’s decision as to which option is chosen. If there is no response 
from the participant, no further action will be taken on the case. 

EXAMPLE: The family’s TEA payment is $204/mo. The absent parent is paying $220 
per month in child support. OCSE is sending the participant $16. It would 
be to the family’s benefit to close the TEA case and receive the child 
support in full. The time limit clock would stop at this point. If the 
reapplies in the future, the time limit will pick up from where it previously 



TRANSITIONAL EMPLOYMENT ASSISTANCE POLICY MANUAL, SECTION 4000

4100 Non-Work Participation Eligibility Requirements 

4130 Household Composition
ended.

 

Whichever option is chosen, the caseworker should re-determine the family’s Medicaid 
eligibility. The family may be eligible for three (3) months of extended Medicaid due to 

child support income, or may be eligible in another Medicaid category. Please refer to 
Medical Services (MS) policy. 
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9000 TANF Overpayments 

 9041 TANF Cash Assistance  

9041.1 Income
The process for calculating a TEA and Work Pays overpayment due to income is
described below.

 
TEA

To determine a TEA overpayment involving income, the caseworker will determine the 
monthly gross and net income as outlined in the TEA 2300 sections (Determining 
Income Eligibility). 
Unless a significant change occurred in the income during the overpayment period, the 
same monthly net income will be used to determine income eligibility for all overpaid 
months. In 

addition, the same gross monthly income will be used to determine if an eligible family 
was eligible for a full or reduced payment unless a significant change occurred during the 
overpayment period. (Refer to TEA 4120 for the definition of a significant change in 
income.) It is not necessary to verify the actual income in each month of the 
overpayment period. 

 
If earned income is involved, both the 20% and the applicable Work incentive (50% or 
60%) earned income deductions will be allowed when determining income eligibility 
for the overpayment period. The applicable Work incentive deduction will be the 
percentage that was in effect during the particular over paid month. 

 
The following are examples of overpayment determinations when the income exceeds 
the Income Eligibility Standard and when the family is entitled to a reduced payment 
rather than full payment.

 
EXAMPLE 1: Mr. Jackson was approved for TEA on May 10th. Two months later, the 

eligibility worker discovered that Mr. Jackson was already working when 
he applied for assistance. The income made the participant ineligible at 
approval. An overpayment will be processed beginning with the month 
of approval. 

EXAMPLE 2: Ms. Jones started working in August. She reported the employment in 
November. When determining the monthly income, both the 20% and 
the Work incentive deduction were allowedallowed, and the family was 
no longer eligible for cash assistance. The overpayment will be 
completed beginning with the month of October. The income amount 
that determined ineligibility will be used for all overpaid months, unless 
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 9041 TANF Cash Assistance  
there was a change in the Work incentive deduction in any of the 
months.

 
EXAMPLE 3: Mrs. Davis and her two children are receiving TEA benefits in the amount of 

$204. Mrs. Davis became employed in November. Her gross earnings are 
$550 1200 per month. She reported her employment in January of the
following year. After allowing the participant earned income deductions,
she is income eligible based on the $223 513 income standard. However, 
when determining the payment amount, the gross earnings exceed $446 
1026 (gross income trigger). Therefore, the family was only eligible for a 
reduced payment of $102. The overpayment will be completed 
beginning with the month of January. 

 
Work Pays 
To determine a Work Pays overpayment involving income, the worker will determine 
the monthly gross income for each month in which an overpayment exists. An 
overpayment will exist for each month in which the gross income exceeds the Federal 
Poverty Level 

 
(FPL) for the household size and a Work Pays payment was received for that month. 
There are no allowable work deductions for Work Pays. 

 
The following are examples of overpayment determinations when the income exceeds 
the FPL for the family size. 

 
EXAMPLE 1: Ms Brown was approved for Work Pays in October based on her declared 

income of $950 monthly. However, when verification of earnings was 
received in November, the October payment had been made and Ms 
Brown’s gross income was $1775. This exceeded the 150% FPL for her 
household size of 2 and therefore she was not eligible. An overpayment 
exists for the October payment. 

 
EXAMPLE 2: Ms Wilson was approved for Work Pays in October. At the time of 

approval Ms Wilson’s gross monthly income was $1900 which is below 
the 150% FPL for her household size. In December, Ms Wilson’s income 
increased to $2150 which is above the 150% FPL. The participant 
continued to receive a Work Pays payment for 3 additional months. An 
overpayment will be calculated beginning with the payment received for 
the month of February. 


